Séquence de Nombres Linéaires (C)

Remplissez les nombres qui manquent de chaque nombre linéaire.

! ! !
374

324 274 224 124 74 24
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
965 865 765 565 465 365
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
515 485 455
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
981 881 781 581 481 381
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
944 569 494 419 344 269
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
838 738 438
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
526 476 426 326 176
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
890 815 590 515

Différence commune:
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Séquence de Nombres Linéaires (C) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
474 424 374

324 274 224 174 124 74 24
Différence commune: -50
I I I I I I I I I I
965 865 765 665 565 465 365 265 165 65
Différence commune: -100
l l l l l l l l l l
515 505 495 485 475 465 455 445 435 425
Différence commune: -10
| | | | | | | | | |
| | | | | | | | | |
981 881 781 681 581 481 381 281 181 81
Différence commune: -100
; ; ; ; ; ; ; ; ; ;
944 869 794 719 644 569 494 419 344 269
Différence commune: -75
| | | | | | | | | |
| | | | | | | | | |
938 838 738 638 538 438 338 238 138 38
Différence commune: -100
| | | | | | | | | |
| | | | | | | | | |
526 476 426 376 326 276 226 176 126 76
Différence commune: -50
I I I I I I I I I I
890 815 740 665 590 515 440 365 290 215
Différence commune: -75
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